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(The values sine and cosine of the real number)

] a Y a s al' a a a a s a a
ﬂqua'ﬁ%ﬂ'ﬁlﬁﬂugﬂmmﬂqami a5y 4 WYALR 191 32201 ALURIAIARTLNULAN T

[
Y =

JuseuANw TN 5

HANSISEWS MANTeunTIMYes flandussinadifvesavseduiuasanimunlle

Learning outcomes.. Find the trigonometric functions of angles or the Real number

and write graphs of trigonometric functions.
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Intended destination Find the value of the sine and cosine of the real number.
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1.29naUnTanle , , ,
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NMnauneigazled cos O+sin" 0=1,0 € R

Y
A ) 1< cos0 <1, - 1<5in0 < 1 9ngalxy) U (x, - y)
0 AaguANuduiushe x = cosO waz y = sin0
(-1 (1,0) X x = cos(-0)  wag -y = sin(-0)
0 -0 Fou cos(0) = cosO ua sin(-0) = - sind
(X,-y)
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2.1.1 dlegauanedldsens 0 wie agluaendudi 2 (§<9<TE)
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P(x,y)

1) T-0L ¥3e 3.1416 - 0L 1ile O=T-0

dle O<Ot<g cos O=cos(TT-0L)= -cosal

n30cos0 =cos (3.1416 - QL) =-cosOL

sinO=sin(TT-0L)=sinQL

w3 sinO = cos(3.1416 - L) =sinqX.



Alternate Example 1 Find the value end of the point arc (0) given O = ?ZT” , 3.002

solution cos3—7Z = cos(M-%) = -cos = = ——zand sins—ﬁ = sin(m-Z) = sinZ = N2
4 4 4 2 4 4 4 2

or c053—7Z = - cos(TC—s—ﬂ) - cosZ = yZ and sins—ﬁ = sin(TC—s—ﬁ) —sinZ = N2
4 2 4 4 4 2

cos 3.002 = cos(3.1416-0.1396)= - cos(0.1396)
and sin 3.002 = sin(3.1416- 0.1396)= sin(0.1396)
or cos 3.002 = - cos(3.1416- 3.002)= - cos(0.1396)
e sin 3.002 = sin(3.1416- 3.002)= sin(0.1396)

2) T-0 vieo 3.1416-0 Heo a=m-O0  o=3.1416 - O il 0<oc<g
G‘]’dﬂjﬁu cos0= -cos(Tt-0) = - cos. %38 cosO= -cos(3.1416 - Q) = - cosQl

sinO=sin(1t-0)= sin . %39 sinO=sin(3.1416 - O) = sinaL

2.1.2 dlogavanedinldsen 0 mie agluarensudi 3(TE<9<32—“) wildan

Y

A 1) T+OL %30 3.1416 +0L Lo
O-Tt+0 w50 0=3.1416 + o iile
M (0,1) NP (x,y)
o<o< X
2
(_1,\) o X a1l cos@® = cos (T+Q) = - cos QL
- / se cosO = cos(3.1416+QL )= - cosOL
/o
Pxy) sinO = cos (3.1416+QL) = -sin QL
(0,-1) sinO = sin(3.1416+0L) = -sinOL

2) O-7 e O -7 =0 iile O<OL<§

Tx cosO® = -cos(©@-T) =-cos
Example 2 Calculate cos? , sin 3.5081

. Vs
solution cos -

sin 3.5081



2.1.3 dlegauanediuldsens 0 mie agluarensudi 4(32—n<9<27t) kAR

“Y & A a
1) 270 -OL %39 6.2836 -OL ila O=27T 0150

0-6.2836 -0, Lile 0<oc<g

(-1,0)

2)2T -0 v 6.2832-0 loo=21 -0 ,01=6.2832-0

k) O<OL<§

cos0=cos(2T -0l)=cosOl , cosO=cos(6.2832 -QL)= cosOL

sin@=sin(27T -al)=-sinOL ,sinO=sin(6.2832 -Q)= -sinCL

c0s0= cos2T -0)= cosat ,cos@ ~c0s(6.2832-0) = cosQt

sinO= -sin(27t -0)= -sinat ,sinG =-5in(6.2832-0) =-sint

Example 3 Calculate cos%t , sin 5.1487

. 5n
solution Q05— Sttt
SIN B.LABT = e
2.2) mamanvesitsiduletuaglaledvesdiueialioyn O Hundi 1 sou
(0 >2m) Tims O dhe 27 lenadns n widewrs oL
tufie 0 = 2nTT+oL Wlo nE€1" way 0<OL<2TC
[ ! 1% 1 [ =] ' =3
mMytndulAswonnay 1 wheanga(1,0)luen0 faludies o wiheine s
2nTt waneiinasu n seu asulaned

sinO = sin2nTt+QL) = sin O

cosO = cos2nTt+QL) = cosOL

Example 4 Calculate sin 137“ = sin( 27T +54—n) = sin 54—n =
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5. fuua L OS@S% waz sin0=0.4848 231176

1)cosO
2)sin(1t-0)
3)cos(TT+0)
4)sin(-0)
5)cos(0-21)
6)sin(37T-0)
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f20814 2 999 cos.76—7c , sin 3.5081

n _ -3

6 2
sin 3.5081 = -sin0.3665

288143 9991 cos%c . sin 5.1487
phil (:05.5?7T -1

sin 5.1487 = -sin 1.1345

Freena 4 9nen sin B8 = sin( 27T +5—n) = sin 2F =£
4 il 4 2
cos(-8) = -cos 1.14248
LRABLUURNYA
1.
9 sine cose
137 ) s
—_— -sin— -COS —
12 12 12
5—7[ _szz_ﬁ COSZZ_
3 3 2 3 2
—_— -SIN—=-— -CO§ — =—- ——
6 6 2 3 2
1z .3z 3z
— sin— -COS —
10 10 10
9 ) Vs
S -sin— Ccos —
5 5
-167 .2 27
-sin — Ccos —
7 7
2.

1) cos0=0.8746 2) sinO =0.4848

3) -cos0=-0.8746 4) -sinO=-0.4848

5) cosO = 0.8746 6 ) sinD= 0.4848




